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Questions from Chapter 1?

Graphs of trig functions....
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Find s w—fﬂ QU whose sce is -0.123.
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you to interpret and put things in the right quadrant.

Solving angles with a calculator requires

Generally, inverse trig functions give you a reference angle, but not THE angle, unless it's
from the restricted domain to start with.
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Almost EVERY trig equation has two solutions between 0 and 2Pi or between § and
360?
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https://harryzaims.com/122/122-fall-20/tests-u-took/122-test-1-fall-20-
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L. Basic concept: Draw the doggone pictures!

L. (3 points) Sketch two triangles that satisfyv wan(#)= —— .

b. (5 Assume the terminal @lde oF 1he sl bine oy ilhie %00 i .
pts) Assume the terminal side of the angle @ lies in the 3 guadrant, Find the other five

tngonomelne functions of &

€. (3 pis) Again, assuming @ "s terminal side liesin Q 1L, and 0< ¢ < 27 find € . in radians and legrees
rounded to 3 decimal places. ‘

@ [/‘ @*(B)- ”%
M - - e

-V3
sir1g -, 12350 2
. . Rackons
tanﬂi'é???%gg?Slmﬂ SoLVE fon o e[o2T). R v\}?
tang sﬁ?ﬁﬁagﬁ” hotan (-2 22 - awod RS g tom
=g = (
- Gac6d5ases” . o T A0
e BHL v~ oy J J (_5_3
/ e AT 4’«»:.""‘*("‘71’?-;'3/"'_*“‘“ A3
- o SAEBAZAEE
hs I
< 5, II7142249
-0 o e
B ek (4) | T4 anche (A) Exacl NS, . 195550196



https://harryzaims.com/122/122-fall-20/tests-u-took/122-test-1-fall-20-solutions.pdf

230130-notes.notebook

January 30, 2023

::ND A_—_\,’\__ SN.ATIJIJS ‘ro _‘_‘_‘e = —G
= 40842452

Arns+2
| tan1¢ =527 (135

« F4eB842452

mn+H

hs
2. 195258136

e x 533+

o © % 2.9+

I
S, 3371428490 €.33%

~= 2.,40L

¥ n €l
¥wel

SucK :l A \al, -\'V\flhe%




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

